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BEF: {FF4E8A25H(K) Xz lFh KIE:33C
KRG FTERENMESEFFZR 7—Fz)—5
YH—T70mR EREF(254)

B4z | SZIE K 4 2E B B [70m(1)[70m(2)| & &t | 10X | X e
1T |10 A| fK ZHt 3 | FEX# | 303 304 607 14 2
2 |1 |A] FH B 3 | FEXEF| 310 291 601 14 2
3 | 5|A| IRF % 2 | FEXF| 285 311 596 15 3
4 |10(B S E 3 | FEEH | 290 304 594 12 4
5 | 4|A] KH 8B 2 | FEZEM | 296 270 566 9 1
6 7B FE & 2 | FERH | 270 292 562 10 2
7 |11|B| #it wEHK 3 | FERH | 299 263 562 7 0
8 |2 |A]| #H&a ME 3 | FEXEF | 274 279 553 9 3
9 |9 |B| HEQO R# 1 | FERB | 273 267 540 6 0
10 |11 A| &R [EiF 3 | FEXF | 266 272 538 2 2
" | 3[A| B Bz | 2 | FFEEM | 257 274 531 2 2
12 |1 (B| B 23 2 | FWiom 272 258 530 2 2
13 |10(B| &E fuk 2 | ®m ¥ 258 266 524 4 0
14 |8 |B| A% i 2 | FEREH | 269 233 502 2 0
15 | 8 |A| ZEHE Wik 2 | BIIfMHE | 252 249 501 7 2
16 [6|A| SH &% 2 | FEXF| 252 246 498 6 2
17 |10 A tEH 12 2 | B i3 248 226 474 3 0
18 [ 9| A| BERE @t 2 | % 3 258 211 469 2 0
19 | 2(B| £# #EM 2 | #Lom 242 221 463 3 0
20 | 4|B mE R 2 | BR#IRE | 235 226 461 2 0
21 | 3|B I\7E &t 1 | fIOoM 229 221 450 5 1
22 (5B B E 2 | ZHA3 231 202 433 2 1
23 11| A| #L XE 2 | B i 230 201 431 2 0
24 |6 |B| =5 #3 2 | ZHA3 200 227 427 2 2
25 Al EX B 2 | FEEf | 159 210 369 4 0

'JiJ—77omR BFA—T5Mm(14)

Bz | 3ZNE K £ 2E| BT B [70m(1)|70m(2)| & & | 10-X| X &

1|11 WA =2 h3 [FET7Hs| 313 317 630 24 9
JHh—270mR EREZXF(14%4)

ERL | SZIE K £ 2E R B |70m@1) | 70m(2)| & &t | 10-X| X &
1 5 A k& Fx 3 | FEXEM 307 318 625 18 8
2 [4|A B REK 3 | FEEM 298 293 591 9 2
3 |1|B| &#BER & 2 | fom 284 294 578 11 4
4 | 3[A| =& FEr 3 | FEEM 271 278 549 5 5
5 | 8|A by B 2 ERE 259 279 538 6 3
6 |[6|B| BHE BX 2 RE 272 247 519 7 2




7 |7(A|] ER 8E 2 %0 252 252 504 6 5
8 | 6|A WA &FE 2 | FEREH 247 253 500 6 3
9 12|B Wy R 2 | fuom 247 251 498 3 0
10 [3|B| #O %EE 2 | FWiom 242 244 486 4 0
" [2|A| BK MER | 2 | FEXEM 236 231 467 1 0
12 | 1| A &K EiE 2 | FEZEM | 230 223 453 4 0
13 [ 4]|B| #BEH LE 2 | BIMHE 200 250 450 7 3
14 [ 5|B| FIEB ME 2 | BifaiE 158 136 294 2 2
Jh—2J70mR ZFA—T5m0 %)
L | 3ZNE K 4 2E| B OB |70m(1)|70m2)| & & | 10-X]| X e
1 B H# HH 2 [wmar—sz-we| 275 282 557 13 5
'Jﬁ—75030mR =R BF(94)
Bz | ZZNE K 4 FE| R B 50m 30m & & | 10:X]| X #E
1 |7|C| EKR IG#8 | 2 | FEHEM| 229 | 294 | 523 | 7 | 3
2 |6|A| /\ZB ##H | 1 |FLUOM| 217 | 289 | 506 | 4 | 3
3 [6]|B| &L KiEg | 2 | wd 210 | 292 | 502 | 6 | 2
4 | 7|A| UK |E | 2 |[FEEBH| 215 269 484 3 3
5 |4|B| BB B | 2| BB | 202 | 274 | 476 | 5 | 1
6 |5|A] B H#2 | 1 B fin 198 | 276 | 474 | 6 | 2
7 | 7|B| FIER thiK | 2 | B 184 | 268 | 452 | 5 | 2
8 |5|B| BRfE EK | 2| BJ 172 | 262 | 434 | 5 | 1
o [4]|A] SR E [ 2| Bh 162 | 242 | 404 | 1 1
JH—T5030mR EREZF(54)
Bz | LN K 4 ZE| B B 50m 30m & &t | 10-X| X e
1 12 ¢ NG HiE 2 R 217 301 518 6 2
2 |1 A =k BF 2 | FEEH 222 268 490 2 1
3 |2 B| FHmI KK 2 50 218 270 488 4 3
4 [1 B mnEE UIF 2 i%ia 204 280 484 6 2
5 |2 A| FEE X 2 | FEZM | 168 256 424 3 0
JHh—230mR EREF(2%)
IEGL | 3ZIE K 4% 2E| B B | 30m(1) | 30m2) | & &t | 10-X| X e
1 [12 A BE R 1| FEEM 294 290 584 14 5
2 |12 B il @b 1| FEEM | 262 270 532 4 2
JH—T30mR EREF(44)
IEGL | 3ZIE K 4% 2E| B B | 30m(1) | 30m2) | & &t | 10-X| X e
1 |12 A BE 5 1| FEEM 289 279 568 8 4
2 |13 A GENTPLER 1| FEZRM 269 297 566 8 2
3 |13 B| JIF AZXT 1| FEEM 235 256 491 7 2
4 |12 B FE =M 1| FEEF | 210 240 450 1 0




